KS2 to KS3: Building cross-phase
understanding

English Transition Project KS2 7 KS3
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Aims

1. KS2 and KS3 English teachers will develop a more secure
grasp of the pedagogy, knowledge and skills underpinning
delivery of the English curriculum in each key stage.

2 . Pupi | s06 progress I n KS3 wi
points and outcomes will be maximised.

3. During summer 2020 transition, the current cohort of Year 6
puplls In participating primary schools will experience learning

opportunities which will prepare them for the demands of
English in Year 7.
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Introductions and ice
breaker

Why are we here?
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‘Closing the Gap? Trends in educational attainment and disadvantage’,
Education Policy Institute (July 2017)



FIGURE 1.3 FIVE-YEAR-OLD CHILDREN BELOW THE AVERAGE VOCABULARY LEVEL BY
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Source: Analysis of Millennium Cohort Study waves | and 3 by UCL Institute of Education

From birth to 48 months, parents in professional families spoke 32
million more words to their children than parents in welfare families,
and this talk gap between the ages of 0 and 3 years — not parent
education, socio-economic status, or race — explains the vocabulary
and language gap at age 3 and the reading and maths achievement
gap aged 10.” The Achievement Gap in Reading edited by Rosalind Horowitz and S.
Jay Samuels
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Aim 1: KS2 and KS3 English teachers will develop a more
secure grasp of the pedagogy, knowledge and skills

underpinning delivery of the English curriculum in each key
stage.

In pairs, we will consider:

A Current practice from thRoiORES d

A KS2 and KS4 statutory assessment and related skills using the
double bubble

A EEF Guidance Reports (KS2 and Secondary)



Project Journal: Starting Points

Project Jowrnal: Starting Points

During the first session, one alm is to develon a shared understanding of how reading is

taught across our schooks. To enable you to contribute effectively 1o this dscussion with

your partner school during the first session, we would like you to complete the following
tashs in preparation:

1. Complete the journal questions below and bring 2s printed coples 1o the sexsian
k3

Bring akong any resources which will enabde you to talk abowt the teaching of

reading i your classroom csrently. E.g. a class text, the plansing for the sequence
of learning and examples of childrens work from that unit

Hom 86 you teich resding skilk [inchedin o hinaion, mord reading, Nuescy, wecabulir| 7

Hom i reading fer phisaiun g n Tidr & aar ¥




Why do we teach reading?



KS2 Reading SATS 2019: What skills do pupils need?

a What has Piper been counting in the first paragraph?

1.

2.

Micah brought the music box 10 her on the night of the meteor storm. Piper
never siept on these nights, when debris from other works fell from the
sky. Restlessness kept ber awake in bed, staring at the slanted ceiling of her
house. She counted the widening cracks in the grey scrub-pine planks and
then counted the seconds as they ticked by on the tarnished silver watch she
wore around her neck. Beneath her cotton nightdress, the metal lay warm
and comfortable against her skin. Micah's knock made her Jose count, but the
watch ticked on steadily

She pulled on a pair of her father’s old boots, slung his brown coat over her
nightdress, and opened the door. Wind blew a harsh breath of snow and ice
crystals into her face. Piper wiped ber eyes and fixed 2 look of annoyance on
the boy huddled in the doorway

‘T must be seeing things” Piper said. “This can’t be Micah Howell standing at
my door, dragging me out of bed in the drop dead of night. Look at me — I'm
stunned stiff. I'm speechless”

Micah snorted. “That'll be the day, then. Let me in, Piper, will ya?" He
stomped snow off his boots. “Stinks out bere, and it’s s0 cold my teeth are

a She pulled on a pair of her father's old boots, slung his brown coat over
her nightdress, and opened the door.

The word slung suggests that Piper put on the brown coat...

Tick one.
caralessly. D

slowty.

@. tidily. D
cracking together.”
“That's your own faalt for being out on a storm night Most scrappers have thoughtfully D

the sense to stay inside.” He was night, though. The 2ir already recked of
brimstone. The storm was coming. Piper moved 10 Jet him in, then shut the
door behind him. He immediately ran 10 the cast-tron stove to warm his hands
Piper nudged him aside and adjusted the controls. “Hand me a log before you m Look at page 8.

make yourself at home,” she said. It was her habit 10 pretend to be bothered by

her friend, even though she was happy to see him . Why Is the boy huddled in the doorway while he walts for Piper to open
Micah handed her a piece of wood from the basket near the stove and reached = the door?

into the bulky sack he had slung over his shoulder. *T brought it, just hike I said

T would” "

GCSE English Language: What skills do pupils need?



i}

Tim Roach
@MrTRoach

The KS2 reading test has always been an hour long (it
used to have separate 15-minute reading and 45-minute
question answering periods). But as the word count has
increased and the passing mark threshold rocketed, isn't

it high time that the time restriction was relaxed?

Year Text 1 Text 2 Text3 Total Pass mark
(out of 50)
2014 627 576 652 1,855 19
(The Humble (The Octopus) (White Fang)
Potato)
2015 505 708 658 1,871 18
(Charlie Small) (Guide Dogs) (California’s
Unlikely Warriors)
2016 765 169 725 1,659 N/A
sample | (Space Tourism) (Giants poem) (The Lost World)
2016 384 768 635 1,787 21
(The Lost Queen) (Wild Ride) (The Way of the
Dodo)
2017 602 709 626 1,937 26
(Gaby to the (Swimming the (An Encounter at
Rescue) English Channel) Sea)
2018 560 214 714 1,488 28
(The Giant Panda (Grannie poem) (Albion’s Dream)
Bear)
2019 633 632 903 2,168 28
(The Park) (Fact Sheet: About (Music Box)
Bumblebees)




Compare and contrast KS2 and KS4 expectations
Double Bubble

”



Compare and contrast KS2 and KS4 expectations
Double Bubble




Dylan Wiliam
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@dylanwiliam

Follow v

['ve come to the conclusion Sweller's

Cognitive Load Theory is the single most

Important thing for teachers to know
1t.ly/2koulOc

What has Piper been counting in the first paragraph?

1.

2 1 mark.

Micah brought the music Box 1o her on the night of the meteor storm.
ncver slept on these nights, when debris from other workls fell from the

sky. Resthessness kept her awake in bed, staring at the shated ceiling of ber
bouse. She counted the widening cracks in the grey scrub-pine planks and
then counted the seconds as they ticked by on the tarnished silver watch she
wore around ber nock. Beneath her cotton nightdress, the metal by warm
and comfortable against her skin. Micah's knock made ber lose count, but the
watch ticked oa steadily

She pulled on a pair of her father’s old boots, slung his brown caat over ber
nightdress, and opencd the door. Wind blew a hansh breath of snow and ice
crystals into ber face. Piper wiped her cyes and fixed a look of annoyance ca
the boy buddied in the doorway.

I must be secing things,” Piper said. ‘This can't be Micah Howell standing at
my doce, dragging me out of bed in the drop dead of night. Look at me — I'm
stunned stiff. I'm spoechless.”

Micah snorted. “That'll be the day, then. Let me in, Piper, will ya”" He
stomped snow of his boots. “Stinks out here, and it's 50 cold my teeth are
cracking together.

“That's your own fault for being out 0n 2 storm night. Most scrappers have
the sense to stay inside” He was right, though. The air already recked of

brimstonc. The storm was coming. Piper moved 1o ket him in, then shut the g
——
-
-

a She pulled on a pair of her father's okl boots, shung his brown coat over
her nightdress, and opened the door.

The word skung suggests that Piper put on the brown coat.

Tick one.

carvlessly

ooogoo

slowty.
iy,
thoughtfully.

door behind him. He immediately ran to the cast-iron stove to warm his hands.
Piper nudged him aside and adjusted the controls. “Hand me a log before you
make yourself at home.” she sasd. It was her habat 1o pretend to be bothered by
her friend, even though she was happy to see him

Micah handed her a picce of wood from the basket acar the stove and reachod
into the bulky sack he had shung over his shoulder. °I brought i, just like | said
1 would”

a Look at page 8.

Why is the boy huddied in the doorway while he waits for Piper t0 open
the door?




Cognitive Load Theory

The idea that our working memory 1 the part of our mind that processes
what we are currently doing i can only deal with a limited amount of
iInformation at one time.
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Unattended Unrehearsed Some
information information information
is lost. is lost. may be lost

over time.
Memory can be characterized in terms of stages—the length of time that information remains available to us.

Source: Adapted from Atkinson R.  C., & Shiffrin R M. (1968). Human memory: A proposed system and its control processes. In K Spence (Ed.) The psychology of learning and
motivation (Vol 2). Oxford, England: Academic Press.

A model of memory






